FHEAE

TIVE A NEERRE
gagl i 5 60 61 62 63 64
AT B 88 35 32 10 4 7
INFET 7 2 5
HIFZER% 2 2
Pk (—) —
ek () 4 2 1 1
R (=) 2 1 1
1 P B Tk 137 50 42 17 12 16
HPAR - NP T 102 53 30 11 8
%&*%%a —
aFt 342 142 108 44 25 23
ITBOE (232)T) —
ITBOR ORBEET) 1 1
R (—)  ORBEEET) —
PRk (Z)  OBes3E)T) —
N (=) ORBES3E)T) 2 1 1
BN gl mes) 42 12 11 8 5 6
BUER B (3T —
BEM R OnBisse)T) 1 1
et | 384 157 119 52 30 30
JEIRE ) DS ek B
gag) i & 60 61 62 63 64
17 Bk 75 13 16 19 9 18
INEE Wk 25 4 7 9 5
ANk 4 1 3
% (—) —
R () 9 3 2 1 3
R (=) 1 1
1 AR BT T 98 17 21 32 14 14
PR« NIRRT 216 75 59 39 24 19
FRREE —
At 428 110 107 101 56 54
1T (2E)T) 1 1
ITBO (RBEFET) —
Nk (—)  ORBES3E)T) —
R () (RPEeE3)T) 1 1
R (=) ORBEE3ET) —
BERE (EHR%) 1 1
BIER B ((BZE)T) —
BUERR R OBegise)T) —
et | 431] 110| 108| 102] 57 54
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